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The Model of Barro and Gordon (1983)

The per-period loss function, Zt, is
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where 
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 is the inflation rate and 
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 is expected inflation.

The Central Bank (CB) chooses the inflation rate that minimizes the expected present value of the loss,
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where 
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 is the discount rate and 
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 is the interest rate.   
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Cheating 
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Penalty for Cheating
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15. Temptation = 
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16. Enforcement = 
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Best Enforceable Rule 
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Temptation = 
[image: image29.wmf](

)

(

)

(

)

(

)

[

]

=

P

-

-

-

P

=

-

a

b

a

b

a

a

b

Z

Z

2

2

2

2

~



[image: image30.wmf](

)

(

)

2

2

a

b

a

-

P

=


Enforcement = 
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Temptation = Enforcement for


[image: image32.wmf](

)

(

)

(

)

a

b

q

q

+

-

=

P

1

/

1



[image: image33.wmf](

)

(

)

(

)

(

)

a

b

q

q

Z

/

1

/

1

2

2

2

2

1

+

-

=








_979372317.unknown

_979372823.unknown

_979444056.unknown

_1045307571.unknown

_1045307617.unknown

_979444128.unknown

_979444183.unknown

_979444207.unknown

_979444160.unknown

_979444072.unknown

_979373037.unknown

_979373700.unknown

_979373855.unknown

_979385629.unknown

_979373784.unknown

_979373156.unknown

_979372936.unknown

_979373002.unknown

_979372856.unknown

_979372634.unknown

_979372723.unknown

_979372757.unknown

_979372682.unknown

_979372372.unknown

_979372586.unknown

_979372330.unknown

_979371520.unknown

_979372148.unknown

_979372259.unknown

_979372001.unknown

_979371383.unknown

_979371408.unknown

_979371136.unknown

